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1. (a) ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé : (•Û¾Ûé ©Ûé ªÛ¨Û) 9 

  Write short notes : (Any three) 

  (1) …ÛÈÛïõ 

    Income 

  (2) ¸ÛÛ™öÅÛä ÈÛÌÛÙ 

    Previous year 

  (3) ÍÛàµÛÛ ïõÁõÈÛéÁõÛ ¾ÛÛ¤éø¶Ûä× ¾ÛµýÛÍ¬Û ¼ÛÛé¦Ùø 

    Central Board of Direct Taxes 

  (4) ˆ¶ïõ¾Û-¤éø“Û …é¸ÛéÅÛé¤ø ¤Öøà¼ýÛä¶ÛÅÛ 

    Income-tax Appellate Tribunal 

  (5) ïõÛýÛ¾Ûà ”ÛÛ©ÛÛ ¶Û×¼ÛÁõ 

    Permanent Account Number 

  (6) ¾ÛæÇ Í¬ÛÛ¶Ûé¬Ûà ïõÁõïõ¸ÛÛ©Û 

    Tax Deducted at Source  

 (b) ËÛà ‘…éîÍÛ’, ›÷é ¾ÛæÇ ½ÛÛÁõ©ÛàýÛ …¶Ûé ›Û¸ÛÛ¶Û¶ÛÛ ¶ÛÛ•ÛÜÁõïõ ™öé ©Ûé…Ûé ©ÛÛ. 22 …Ûé•ÛÍ¤ø, 2008¶ÛÛ 
ÁõÛé›÷ ¸Ûó¬Û¾Û ÈÛ”Û©Û ½ÛÛÁõ©Û¶Ûà ¾ÛäÅÛÛïõÛ©Ûé …ÛÈýÛÛ …¶Ûé 5¾Ûà ¾Ûé, 2011¶ÛÛ ÁõÛé›÷ ¤øÛéÜïõýÛÛé ¾ÛÛ¤éø ÁõÈÛÛ¶ÛÛ 
¬ÛýÛÛ. ©Ûé…Ûé ºõÁõà ÈÛ”Û©Û 26¾Ûà ›Û¶ýÛä…ÛÁõà, 2013¶ÛÛ ÁõÛé›÷ ½ÛÛÁõ©Û …ÛÈýÛÛ …¶Ûé 30¾Ûà ¾ÛÛ˜ÛÙ, 
2013¶ÛÛ ÁõÛé›÷ ½ÛÛÁõ©Û ™öÛé¦øà ¸ÛÁõ©Û •ÛýÛÛ.  6 

  …ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 2013-14 ¾ÛÛ¤éø ©Ûé…Ûé¶ÛÛé ÁõÐéü¥øÛ¨Û¶ÛÛé þùÁõš›Ûé ¶Û‘õà ïõÁõÛé. 

  Mr. X. Japanese citizen and a person of Indian origin comes to India for the first 

time on 22
nd

 August, 2008 and left for Tokyo on 5
th

 May, 2011. He once again 

arrived in India on 26
th

 January, 2013 and left India on 30
th

 March, 2013. 

  Determine his residential status for the assessment year 2013-14. 

…¬ÛÈÛÛ/OR 

 (b) …ÛÈÛïõÈÛéÁõÛ ïõÛýÛþùÛ, 1961 Ðéü¥øÇ, ïõÁõÈÛéÁõÛ¶Ûà ›÷ÈÛÛ¼ÛþùÛÁõà (Incidence of Taxes) ¸ÛÁõ ¤æ×øïõ¶ÛÛêµÛ 
ÅÛ”ÛÛé. 

  Write short note on “Incidence of Tax” under the Income Tax Act, 1961. 
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2. ËÛà ‘…éîÍÛ’ (ÜÈÛÜÉÛÌ¤ø ïõ¾ÛÙ̃ ÛÛÁõà) ¶Û¦øà…Ûþù ”ÛÛ©Ûé …éïõ ï×õ¸Û¶Ûà¾ÛÛ× ¾Ûé¶Ûé›÷Áõ ©ÛÁõàïéõ ïõÛ¾Û ïõÁéõ ™öé. ©Ûé…Ûé          
©ÛÛ. 31-3-2013¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ ÈÛÌÛÙ ¾ÛÛ¤éø ¶Ûà˜Ûé¶Ûà ÜÈÛ•Û©ÛÛé Áõ›æ÷ ïõÁéõ ™öé :  15 

(1) ¾ÛæÇ ¸Û•ÛÛÁõ ¾ÛÛÜÍÛïõ ` 25,000 

(2) ¾ÛÛê–ÛÈÛÛÁõà ½Û¬¬Ûä ¾ÛæÇ ¸Û•ÛÛÁõ¶ÛÛ 60% ¾Ûä›÷¼Û 

(3) ÜÉÛ“Û¨Û ½Û¬¬Ûä (¼Ûé ÍÛ×©ÛÛ¶ÛÛé ¾ÛÛ¤éø) ¾ÛÛÜÍÛïõ ` 500 

(4) ¾Û¶ÛÛéÁ×õ›÷¶Û ½Û¬¬Ûä ¾ÛÛÜÍÛïõ ` 3,000 

(5) ÈÛÛÐü¶Û ½Û¬¬Ûä ¾ÛÛÜÍÛïõ ` 1,000 

(6) –ÛÁõ½ÛÛ¦øÛ ½Û¬¬Ûä ¾ÛÛÜÍÛïõ ` 4,000 

(7) ”ÛÁéõ”ÛÁõ ˜ÛäïõÈÛéÅÛ ½ÛÛ¦äø ¾ÛÛÜÍÛïõ ` 5,000 

(8) ¾ÛÛ¶ýÛ ¸ÛóÛé. º×õ¦ø¾ÛÛ× ¾ÛÛÜÅÛïõ¶ÛÛé ºõÛÇÛé ¾ÛæÇ ¸Û•ÛÛÁõ¶ÛÛ 15% ¾Ûä›÷¼Û 

(9) 10%¶ÛÛ þùÁõ¬Ûà ¾ÛÛ¶ýÛ ¸ÛóÛé. º×õ¦ø¶Ûà ¼ÛÛïõà ¸ÛÁõ ›÷¾ÛÛ ¬ÛýÛéÅÛ ÈýÛÛ›÷ ` 40,000 

(10) ©Ûé…Ûé¶ÛÛ ¸Û•ÛÛÁõ¾ÛÛ×¬Ûà ¾ÛÛÜÍÛïõ ` 200 ¾Ûä›÷¼Û ÈýÛÈÛÍÛÛýÛÈÛéÁõÛ¶Ûà ïõ¸ÛÛ©Û 
¬Ûˆ Ðü©Ûà. 

 

 Š¸ÛÁõ¶Ûà ÜÈÛ•Û©ÛÛé ¸ÛÁõ¬Ûà ©Ûé…Ûé¶Ûà ¸Û•ÛÛÁõ¶ÛÛ ¾Û¬ÛÛÇÛ Ðéü¥øÇ …ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 2013-14 ¾ÛÛ¤éø ïõÁõ¸ÛÛªÛ 
…ÛÈÛïõ¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 

 Mr. X (specified employee) is working as Manager in a company at Nadiad. He submits 

the following particulars for the year ended 31-3-2013 : 

(1) Basic salary  ` 25,000 p.m. 

(2) D.A. 60% of basic salary 

(3) Education Allowance (for two children)  ` 500 p.m. 

(4) Entertainment Allowance ` 3,000 p.m. 

(5) Transport Allowance ` 1,000 p.m. 

(6) House Rent Allowance ` 4,000 p.m. 

(7) Actual Rent Paid ` 5,000 p.m. 

(8) Employer’s contribution to Recognised P.F. 15% of basic salary 

(9) Interest credited to the balance of recognised P.F. @ 10% 

rate of interest ` 40,000 

(10) ` 200 per month is deducted from his salary as 

Professional Tax. 
 

 Compute his taxable Income from Salaries for the assessment year 2013-14. 

…¬ÛÈÛÛ/OR 
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 (a) ËÛà ‘…éîÍÛ’ …é¼ÛàÍÛà ï×õ¸Û¶Ûà ÜÅÛ. ¾ÛÛ×¬Ûà 28 ÈÛÌÛÙ …¶Ûé 8 ¾ÛÛÍÛ¶Ûà ¶ÛÛéïõÁõà ¸ÛæÁõà ïõÁõà               
©ÛÛ. 15-12-2012¶ÛÛ ÁõÛé›÷ Ü¶ÛÈÛè«Û ¬ÛýÛÛ. ©Ûé…Ûé¶Ûé ` 3,00,000 •Ûóé̃ ýÛä̂ ¤øà ˜ÛäïõÈÛÈÛÛ¾ÛÛ× …ÛÈÛà.            
©ÛÛ. 30-11-12¶ÛÛ ÁõÛé›÷ ¸ÛäÁõÛ ¬Û©ÛÛ 10 ¾ÛÛÍÛ¶ÛÛé ©Ûé…Ûé¶ÛÛé ÍÛÁéõÁõÛÉÛ ¾ÛÛÜÍÛïõ ¸Û•ÛÛÁõ ` 19,200 Ðü©ÛÛé. 
©Ûé…Ûé¶Ûé ˜ÛäïõÈÛÛýÛéÅÛ •Ûóé̃ ýÛä̂ ¤øà, µÛà ¸Ûé¾Ûé¶¤ø …Ûñºõ •Ûóé̃ ýÛä̂ ¤øà …éî¤ø 1971 ¾Ûä›÷¼Û ¶Û¬Ûà ©Ûé¾Û ¾ÛÛ¶Ûà¶Ûé 
…ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 2013-14 ¾ÛÛ¤éø ïõÁõ¸ÛÛªÛ •Ûóé̃ ýÛä̂ ¤øà¶Ûà •Û¨Û©ÛÁõà ïõÁõÛé. 6 

  Mr. X, retired from ABC Co. Ltd. on 15-12-2012 after 28 years and 8 months of 

service. He received ` 3,00,000 as gratuity. His average monthly salary for the 

preceeding 10 months ended on 30
th

 Nov., 2012 was ` 19,200 per month. Assume 

he is not covered under The Payments of Gratuity Act, 1971. Compute the taxable 

gratuity for the assessment year 2013-14. 

…¬ÛÈÛÛ/OR 

  ¾ÛÛÜÅÛïéõ ïõ¾ÛÙ̃ ÛÛÁõà¶Ûé ½ÛÛ¦øÛ ÈÛ•ÛÁõ¶Ûä× ÍÛ›ÛÈÛ¤øÈÛÛÇä ÁõÐéü¥øÛ¨Û …Û¸ÛéÅÛ ÐüÛéýÛ ©ýÛÛÁéõ …ÛÈÛïõÈÛéÁõÛ ïõÛýÛþùÛ 
Ðéü¥øÇ ÍÛ›ÛÈÛ¤ø¶Ûä ¾ÛæÅýÛ ¶Û‘õà ïõÁõÈÛÛ …×•Ûé¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé ÍÛ¾Û›ÛÈÛÛé. 

  Explain provisions of the Income-Tax Act, in respect of valuation of Rent free 

furnished accommodation provided by the employer to the employee. 

 (b) ËÛà ‘…éîÍÛ’ ªÛ¨Û ¾ÛïõÛ¶ÛÛé¶Ûà ¾ÛÛÜÅÛïõà µÛÁõÛÈÛé ™öé. ¶Ûà˜Ûé …Û¸ÛéÅÛà ¾ÛÛÜÐü©Ûà¶Ûé …ÛµÛÛÁéõ …ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 
2013-14 ¾ÛÛ¤éø ¾ÛïõÛ¶Û Ü¾ÛÅÛïõ©Û¶ÛÛ ¾Û¬ÛÛÇÛ Ðéü¥øÇ ‘˜ÛÛé””Ûä ÈÛÛÜÌÛÙïõ ¾ÛæÅýÛ’ ÉÛÛéµÛÛé : 9 

ÜÈÛ•Û©Û ¾ÛïõÛ¶Û – I ¾ÛïõÛ¶Û – II ¾ÛïõÛ¶Û – III 

ÈýÛÛ›÷¼Ûà ½ÛÛ¦äø 84,000 84,000 84,000 

¾ýÛäÜ¶ÛÜÍÛ¸ÛÅÛ …ÛïõÛÁõ¨Ûà 72,000 72,000 72,000 

¸Ûó¾ÛÛÜ¨Û©Û ½ÛÛ¦äø 80,000 90,000 78,000 

”ÛÁéõ”ÛÁõ ¾ÛÇéÅÛ/¾ÛÇÈÛÛ¸ÛÛªÛ ½ÛÛ¦äø (›Ûé 
…Û”Ûä× ¸ÛÛ™öÅÛä× ÈÛÌÛÙ ½ÛÛ¦éø …Û¸ÛéÅÛ ÐüÛéýÛ) 

1,20,000 1,44,000 1,80,000 

¶ÛÜÐü Š¸Û›÷éÅÛ ½ÛÛ¦äø 30,000 72,000 72,000 

¾ýÛäÜ¶ÛÜÍÛ¸ÛÅÛ ïõÁõÈÛéÁõÛ (¾ÛÛÜÅÛïéõ ˜ÛäïõÈÛéÅÛ) 6,000 12,000 18,000 

  Mr. X, is owner of three Houses. Based on the following informations, determine 

the net annual value for each house for the assessment year 2013-14 : 

               Particulars House – I House – II House – III 

Fair rent 84,000 84,000 84,000 

Municipal  assessment  72,000 72,000 72,000 

Standard Rent 80,000 90,000 78,000 

Actual Rent received/receivable  

(If let out throughout previous year) 

1,20,000 1,44,000 1,80,000 

Unrealised Rent 30,000 72,000 72,000 

Municipal taxes (Paid by owner) 6,000 12,000 18,000 
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3. ËÛà ‘…éîÍÛ’¶Ûä ©ÛÛ. 31-3-2013¶ÛÛ ÁõÛé›÷ ¸ÛæÁõÛ ¬Û©ÛÛ ÈÛÌÛÙ¶Ûä ¶ÛºõÛ-¶ÛäïõÍÛÛ¶Û ”ÛÛ©Ûä ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 15 
ÜÈÛ•Û©Û `̀̀̀ ÜÈÛ•Û©Û `̀̀̀ 

…ÛñÜºõÍÛ ”Û˜ÛÙ 4,500 ïõÛ˜ÛÛé ¶ÛºõÛé 3,50,000 

ÈÛà¾ÛÛ ¸ÛóàÜ¾ÛýÛ¾Û 5,600 –ÛÛÅÛ”ÛÛµÛ ¸ÛÁõ©Û 10,000 

–ÛÛÅÛ”ÛÛµÛ 800 ›Û¾Ûà¶Û•ÛàÁõà ¸ÛÁõ ÈýÛÛ›÷ 8,000 

ïõ¾ÛÙ̃ ÛÛÁõà…Ûé¶ÛÛé ¸Û•ÛÛÁõ 78,000 ½ÛÛ¦äø 22,000 

…Ûé¦øà¤ø ºõà 25,000 œ÷ÈÛ¶ÛÈÛà¾ÛÛ ¸ÛÛéÜÅÛÍÛà ¸ÛÛïõà 10,000 

¾ÛÛÜÅÛïõ¶ÛÛé ¸Û•ÛÛÁõ 10,000 ¸ÛÁõ˜ÛæÁõ¨Û …ÛÈÛïõ 10,000 

¾Ûæ¦øà ¸ÛÁõ ÈýÛÛ›÷ 7,000   

ÅÛÛé¶Û ¸ÛÁõ ÈýÛÛ›÷ 13,000   

…ÛÈÛïõÈÛéÁõÛé 8,000   

ÈÛé̃ ÛÛ¨ÛÈÛéÁõÛé (˜ÛäïõÈÛÈÛÛ¶ÛÛé ¼ÛÛïõà) 12,000   

þùÛ¶Û-µÛ¾ÛÛÙþùÛé 9,000   

¾ÛÛé¤øÁõïõÛÁõ ”Û˜ÛÙ 10,000   

–ÛÍÛÛÁõÛé 10,000   

½ÛÛ¦éø …Û¸ÛéÅÛ Ü¾ÛÅÛïõ©Û¶Ûä× ¾ýÛäÜ¶Û. 
ÈÛéÁõÛ 6,000 

  

˜ÛÛé””ÛÛé ¶ÛºõÛé 2,11,100   

ïäõÅÛ 4,10,000 ïäõÅÛ 4,10,000 

 ÈÛµÛÛÁõÛ¶Ûà ¾ÛÛÜÐü©Ûà : 
 (1) …ÛÈÛïõÈÛéÁõÛ ïõÛýÛþùÛ Ðéü¥øÇ ¾Û›÷Áéõ ¾ÛÇÈÛÛ¸ÛÛªÛ –ÛÍÛÛÁõÛé ` 8,000. 
 (2) ¾ÛÛé¤øÁõïõÛÁõ¶ÛÛé 60 ¤øïõÛ Š¸ÛýÛÛé•Û …×•Û©Û •Û¨ÛÈÛÛ¶ÛÛé ™öé. 
 (3) –ÛÛÅÛ”ÛÛµÛ ¸ÛÁõ©Û ½Ûæ©ÛïõÛÇ¾ÛÛ× ”Û˜ÛÙ ©ÛÁõàïéõ ¾Û›÷Áéõ ¾ÛÇéÅÛ ¶Û¬Ûà 
 Š¸ÛÁõ¶Ûà ÜÈÛ•Û©ÛÛé ¸ÛÁõ¬Ûà ËÛà ‘…éîÍÛ’¶Ûà …ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 2013-14 ¾ÛÛ¤éø ïõÁõ¸ÛÛªÛ ‘µÛ×µÛÛ-ÈýÛÈÛÍÛÛýÛ’¶Ûà 

…ÛÈÛïõ ÉÛÛéµÛÛé. 
 Following is the Profit & Loss A/c. of Mr. X for the year ending 31-3-2013 : 

Particulars `̀̀̀ Particulars `̀̀̀ 

To Office Expenses 4,500 By Gross Profit  3,50,000 

To Insurance Premium 5,600 By Bad Debts recovered 10,000 

To Bad Debts 800 By Interest on securities 8,000 

To Staff Salary 78,000 By Rent 22,000 

To Audit Fees 

To Proprietor’s Salary 

25,000 

10,000 

By Amount received from 

LIC on-maturity of policy 10,000 

To Interest on Capital 7,000 By Misc. Income 10,000 

To Interest on loan 13,000   

To Income Tax 8,000   

To Sales Tax (Unpaid) 12,000   

To Donation  9,000   

To Motor Car-Expenses 10,000   

To Depreciation 10,000   

To Municipal Tax of let out 

property 6,000 

  

To Net Profit 2,11,100   

 4,10,000  4,10,000 



KE-107 5 P.T.O.  

 Addition Information : 

 (1) Depreciation allowable as per rules comes to ` 8,000. 

 (2) 60% of Motor Car Expenses are to be treated as personal. 

 (3) Bad debts recovered was not allowed as expense in the year of Bad Debts. 

 From the above, compute business income for the assessment year 2013-14. 

                     …¬ÛÈÛÛ/OR 

 •Û¾Ûé ©Ûé ªÛ¨Û¶ÛÛé ›÷ÈÛÛ¼Û …Û¸ÛÛé :   

 Answer any three : 

 (1) ËÛà ‘…éîÍÛ’ ©ÛÛ. 1-1-1970¶ÛÛ ÁõÛé›÷ ` 25,000¶Ûà Ýïõ¾Û©Ûé …éïõ ÁõÐéü¥øÛ¨Û¶Ûä× ¾ÛïõÛ¶Û ”ÛÁõàþéùÅÛ ™öé. 
…Û ¾ÛïõÛ¶Û ¸ÛÁõ ©Ûé…Ûé…é ¶ÛÛ¨ÛÛïõàýÛ ÈÛÌÛÙ 2001-02 þùÁõ¾ýÛÛ¶Û ` 10,000¶Ûà Ýïõ¾Û©Ûé ©Ûé…Ûé…é ¸Ûó¬Û¾Û 
¾ÛÛÇ ¼ÛÛ×µÛéÅÛ Ðü©ÛÛé. …Û ¾ÛïõÛ¶Û ©Ûé…Ûé ©ÛÛ. 1-1-2013¶ÛÛ ÁõÛé›÷ ` 20,00,000¶Ûà Ýïõ¾Û©Ûé ÈÛé̃ ÛÛ¨Û ïõÁéõ 
™öé …¶Ûé ©ÛÛ. 28-2-2013¶ÛÛ ÁõÛé›÷ ` 10,00,000¶Ûà Ýïõ¾Û©Û¶Ûä× ¶ÛÈÛä× ¾ÛïõÛ¶Û ”ÛÁõàþéù ™öé.                
©ÛÛ. 1-4-1981¶Ûà ¾ÛïõÛ¶Û¶Ûà ÈýÛÛ›÷¼Ûà ¼Û›ÛÁõ Ýïõ¾Û©Û ` 75,000 Ðü©Ûà. 

  ÍÛæ̃ Ûïõ …Û×ïõ ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 
  1981-82 100 

  2001-02 426 

  2012-13 852 

  Š¸ÛÁõ¶Ûà ÜÈÛ•Û©Û ¸ÛÁõ¬Ûà …ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 2013-14 ¾ÛÛ¤éø ©Ûé…Ûé¶ÛÛé ïõÁõ¸ÛÛªÛ ¾Ûæ¦øà ¶ÛºõÛé ÉÛÛéµÛÛé.   
  Mr. X purchased a residential house on 1-1-1970 for ` 25,000 and constructed 1

st
 

floor at a cost of ` 10,000 in the financial year 2001-02. On 1-1-2013. Mr. X sold 

this house for ` 20,00,000. On 28-2-2013 he purchased new house property for          

` 10,00,000. The fair market value of house on 1-4-1981 was ` 75,000. 

  Index Numbers are as under : 

  1981-82 100 

  2001-02 426 

  2012-13 852 

  Find out the taxable capital gain for the assessment year 2013-14. 

 (2) ËÛà¾Û©Ûà ‘…éîÍÛ’¶Ûà ¶Ûà˜Ûé …Û¸ÛéÅÛ ÜÈÛ•Û©ÛÛé¶Ûé …ÛµÛÛÁéõ …ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 2013-14 ¾ÛÛ¤éø ©Ûé…Ûé¶Ûà …¶ýÛ 
ÍÛÛµÛ¶ÛÛé¶ÛÛ ¾Û¬ÛÛÇÛ Ðéü¥øÇ ïõÁõ¸ÛÛªÛ …ÛÈÛïõ ÉÛÛéµÛÛé : 

  (1) ©Ûé…Ûé ÅÛÛéïõÍÛ½ÛÛ¶ÛÛ ÍÛ½ýÛ ™öé …¶Ûé ¾ÛÛÜÍÛïõ ` 15,000 ¾ÛÐéü¶Û©ÛÛ¨Ûä ¾ÛéÇÈÛé ™öé. 

  (2) ©Ûé…Ûé…é …éïõ ¸ÛäÍ©Ûïõ ÅÛ”ÛéÅÛ ™öé …¶Ûé ÅÛéÜ”ÛïõÛ ©ÛÁõàïéõ ÈÛÛÜÌÛÙïõ ` 20,000 ÁõÛéýÛÅ¤øà ¾ÛéÇÈÛé ™öé. 

  (3) ¼Ûêïõ ºõàîÍÛ ¦øà¸ÛÛé¡öà¤ø ¸ÛÁõ ÈýÛÛ›÷  ` 20,000 

  (4) ˆÜîÈÛ¤øà ÉÛéÁõ ¸ÛÁõ Ü¦øÜÈÛ¦ø¶¦ø 

   – ½ÛÛÁõ©ÛàýÛ ï×õ¸Û¶Ûà¶ÛÛ ÉÛéÁõ ¸ÛÁõ ` 12,000 

   – ÜÈÛþéùÉÛà ï×õ¸Û¶Ûà¶ÛÛ ÉÛéÁõ ¸ÛÁõ ` 38,000 

  (5) ÈÛÌÛÙ þùÁõ¾ýÛÛ¶Û ÅÛÛé¤øÁõà¶Ûä× ˆ¶ÛÛ¾Û ` 80,000 

    (¾ÛæÇ Í¬ÛÛ¶Ûé¬Ûà ïõÁõïõ¸ÛÛ©Û ` 35,000) 
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  From the following information of Mrs. X, compute her income from other sources 

for the assessment year 2013-14 : 

  (1) She is member of Parliament and received salary of ` 15,000 p.m. 

  (2) She is author of a book and received Royalty of ` 20,000 per year. 

  (3) Interest on Bank Fixed Deposit ` 20,000 

  (4) Dividend on Equity Shares : 

   – From Indian Company ` 12,000 

   – From Foreign Company ` 38,000 

  (5) During the year she won lottery prize ` 80,000 

   (Tax deducted at source ` 35,000) 

 (3) …ÛÈÛïõ¶ÛÛ …éïõªÛàïõÁõ¨Û …×•Ûé …ÛÈÛïõÈÛéÁõÛ ïõÛýÛþùÛ-1961¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé ›÷¨ÛÛÈÛÛé. 
  State provisions of the Income-Tax Act, 1961 in respect of clubbing of Income. 

 (4) ¶ÛäïõÍÛÛ¶Û¶Ûà ¾ÛÛ×¦øÈÛÛÇ …¶Ûé …Û•ÛÇ ”Ûễ Ûà ›÷ÈÛÛ …×•Ûé …ÛÈÛïõÈÛéÁõÛ ïõÛýÛþùÛ-1961¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé 
›÷¨ÛÛÈÛÛé. 

  State provisions of the Income Tax Act, 1961 in respect of set-off and carry 

forward of losses. 

 (5) …ÛÈÛïõÈÛéÁõÛ ïõÛýÛþùÛ-1961 Ðéü¥øÇ þùÛ¶Û-µÛ¾ÛÛÙþùÛ …×•Ûé ïõÅÛ¾Û 80-œ÷¶Ûà ïõ¸ÛÛ©Û …×•Ûé¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé ›÷̈ ÛÛÈÛÛé. 
  State provisions of the Income Tax Act, 1961 regarding deduction of Donation u/s 

80-G of the Act. 

 (6) …ÛÈÛïõÈÛéÁõÛ ïõÛýÛþùÛ Ðéü¥øÇ ‘¾Ûæ¦øà Ü¾ÛÅÛïõ©Û’¶Ûà ÈýÛÛ”ýÛÛ …Û¸Ûà ÍÛ¾Û›ÛÈÛÛé. 
  Define ‘Capital Asset’ under the Income Tax Act. 

 

4. ¶Ûà˜Ûé ›÷¨ÛÛÈÛéÅÛ þùÁéõïõ ¸Ûé¤øÛ ¸ÛóÊ¶Û¶ÛÛ …éïõ ïõÁõ©ÛÛ× ÈÛµÛä ›÷ÈÛÛ¼ÛÛé …Û¸ÛéÅÛ ™öé. ›÷é ¸Ûíéïõà ºõî©Û …éï õ›÷ ›÷ÈÛÛ¼Û 
ÍÛÛ˜ÛÛé ™öé. ©Û¾ÛÛÁéõ ÍÛÛ˜ÛÛé ›÷ÈÛÛ¼Û ¶Û‘õà ïõÁõà ›÷¨ÛÛÈÛÈÛÛ¶ÛÛé ™öé. ©Û¾ÛÛÁõÛ ›÷ÈÛÛ¼Û¶ÛÛ ÍÛ¾Û¬ÛÙ¶Û¾ÛÛ× ›÷ÄõÁõà 
•Û¨Û©ÛÁõà ÍÛ¾Û›æ÷©Ûà þùÉÛÛÙÈÛÈÛà ›÷ÄõÁõà ™öé :   15 

 In the following sub-questions, more than one answer is given of which only one answer 

is correct. You have to select correct answer. Your answer should be supported by 

necessary explanation and working note. 

 (a) ËÛà ‘…’ ¶ÛÛ ¶ÛÛ¨ÛÛïõàýÛ ÈÛÌÛÙ 2012-13¶ÛÛ ÁõÛéïõÛ¨ÛÛé¶Ûà ÜÈÛ•Û©ÛÛé ¶Ûà˜Ûé ¾Ûä›÷¼Û ™öé : 
 `̀̀̀ 

¾ÛÛ¶ýÛ ¸ÛóÛé. º×õ¦ø¾ÛÛ× ºõÛÇÛé 8,000 

œ÷ÈÛ¶ÛÈÛà¾ÛÛ ¸ÛÛéÜÅÛÍÛà¶Ûä× ¸ÛóàÜ¾ÛýÛ¾Û  

– ËÛà ‘…’¶Ûà ¸ÛÛéÜÅÛÍÛà ¸ÛÁõ  10,000 

– ©Ûé…Ûé¶ÛÛ ½ÛÛˆ¶Ûà ¸ÛÛéÜÅÛÍÛà ¸ÛÁõ 16,000 

ÐüÛŠÍÛá•Û ÅÛÛé¶Û¶Ûà ¸ÛÁõ©Û ˜ÛäïõÈÛ¨Ûà (ÈýÛÛ›÷ ` 10,000 ÍÛÜÐü©Û) 82,000 

ÁõÛÌ¤ÖøàýÛ ¼Û˜Û©Û¸ÛªÛÛé¶Ûà ”ÛÁõàþùà 4,000 

  ïõÅÛ¾Û-80 ÍÛà Ðéü¥øÇ ïõ¸ÛÛ©Û¸ÛÛªÛ Áõïõ¾Û 
  (1) ` 94,000 (2) ` 1,00,000 

  (3) ` 1,20,000 (4) ` 1,10,000 
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  Mr. A has following investments during the Financial year 2012-13 : 

 `̀̀̀ 

Contribution to Recognised P.F. 8,000 

Payment of Life Insurance Premium  

– On life of Mr. A  10,000 

– On life of Brother 16,000 

Repayment of Housing loan (including interest ` 10,000) 82,000 

Purchase of N.S.C. 4,000 

  Find out deduction u/s 80 C. 

  (1) ` 94,000 (2) ` 1,00,000 

  (3) ` 1,20,000 (4) ` 1,10,000 

 (b) ËÛà ‘¼Û’ ÍÛäÁõ©Û ”ÛÛ©Ûé (ÈÛÍ©Ûà 20 ÅÛÛ”Û) …éïõ ï×õ¸Û¶Ûà¾ÛÛ× ¾Ûé¶Ûé›÷Áõ ™öé. ©Ûé…Ûé¶ÛÛé ÈÛÛÜÌÛÙïõ ¾ÛæÇ ¸Û•ÛÛÁõ          
` 2,40,000 …¶Ûé ¾ÛÛê–ÛÈÛÛÁõà ½Û¬¬Ûä ÈÛÛÜÌÛÙïõ ` 60,000 ™öé. ¾ÛÛê–ÛÈÛÛÁõà ½Û¬¬Ûä Ü¶ÛÈÛèÜ«Û¶ÛÛ ÅÛÛ½Û¶Ûà 
•Û¨Û©ÛÁõà ¾ÛÛ¤éø ¾ÛæÇ ¸Û•ÛÛÁõ¾ÛÛ× Š¾ÛéÁõÛýÛ ™öé. ©Ûé…Ûé¶Ûé ¾ÛÛÜÅÛïõ ©ÛÁõºõ¬Ûà ½ÛÛ¦øÛ ÈÛ•ÛÁõ¶ÛÛ ÁõÐéü¥øÛ¨Û¶Ûà 
ÍÛÈÛÅÛ©Û …Û¸ÛÈÛÛ¾ÛÛ× …ÛÈÛéÅÛ ™öé. ©Ûé…Ûé¶Ûé ¾ÛÇéÅÛ ÍÛÈÛÅÛ©Û¶Ûä ¾ÛæÅýÛ ïéõ¤øÅÛä× •Û¨ÛÛÉÛé ? 

  (1) ` 22,500 (2) ` 30,000 

  (3) ` 45,000 (4) ÉÛæ¶ýÛ 
  Mr. B is working as Manager in a company at Surat (population 20 lacs). His 

yearly basic salary was ` 2,40,000 and yearly D.A. (forming part of salary for 

retirement) was ` 60,000. He was provided rent free accommodation by the 

employer. The value of rent free accommodation is  

  (1) ` 22,500 (2) ` 30,000 

  (3) ` 45,000 (4) Nil 

 (c) ËÛà ‘ïõ’ ©Ûé…Ûé…é ½ÛÛ¦éø …Û¸ÛéÅÛ ¾ÛïõÛ¶Û Ü¾ÛÅÛïõ©Û …×•Ûé ¶Ûà˜Ûé¶Ûà ÜÈÛ•Û©ÛÛé Áõ›æ÷ ïõÁéõ ™öé : 
          `̀̀̀ 

  ¾ýÛäÜ¶ÛÜÍÛ¸ÛÅÛ …ÛïõÛÁõ¨Ûà 90,000 

  ÈýÛÛ›÷¼Ûà ½ÛÛ¦äø 95,000 

  ¸Ûó¾ÛÛÜ¨Û©Û ½ÛÛ¦äø 85,000 

  ¾ýÛäÜ¶ÛÜÍÛ¸ÛÅÛ ïõÁõÈÛéÁõÛ (˜ÛäïõÈÛéÅÛ) 10% 

  ”ÛÁéõ”ÛÁõ ¾ÛÇÈÛÛ¸ÛÛªÛ ½ÛÛ¦äø ¾ÛÛÜÍÛïõ ` 8,000 

  ¾ÛïõÛ¶Û ”ÛÛÅÛà ÁõÔÛ¶ÛÛé ÍÛ¾ÛýÛ 2 ¾ÛÛÍÛ 
  …ÛïõÛÁõ¨Ûà ÈÛÌÛÙ 2013-14 ¾ÛÛ¤éø ¾ÛïõÛ¶Û Ü¾ÛÅÛïõ©Û¶Ûà ïõÁõ¸ÛÛªÛ …ÛÈÛïõ 
  (1) ` 49,700 (2) ` 96,000 

  (3) ` 71,000 (4) ÉÛæ¶ýÛ 
  Mr. C provides following information in respect of house let out of him : 

          `̀̀̀ 

  Municipal assessment 90,000 

  Fair Rent  95,000 

  Standard Rent 85,000 

  Municipal Taxes (paid) 10% 

  Rend receivable 8,000 p.m. 

  Vacancy period 2 months 

  Income chargeable from the above house property for Assessment year 2013-14 is  

  (1) ` 49,700 (2) ` 96,000 

  (3) ` 71,000 (4) Zero 
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 (d) ËÛà ‘¦ø’ ©Ûé…Ûé¶Ûà µÛ×ùµÛÛïõàýÛ Ü¾ÛÅÛïõ©Û¶Ûà ¶Ûà˜Ûé¶Ûà ÜÈÛ•Û©ÛÛé Áõ›æ÷ ïõÁéõ ™öé : 
  – ¸ÅÛÛ¶¤ø …¶Ûé ¾ÛÉÛà¶ÛÁõà   

  – ©ÛÛ. 1-4-2012¶Ûà –Û¤ø©Ûà ›÷©Ûà ¼ÛÛïõà  ` 60,000 

  – ©ÛÛ. 1-6-2012¶ÛÛ ÁõÛé›÷ ¶ÛÈÛÛ ¾ÛÉÛà¶Û¶Ûà ”ÛÁõàþùà ` 50,000 

  – ©ÛÛ. 1-1-2013¶ÛÛ ÁõÛé›÷ ¾ÛÉÛà¶ÛÁõà¶Ûä× ÈÛé̃ ÛÛ¨Û ` 10,000 

  – –ÛÍÛÛÁõÛ¶ÛÛé þùÁõ         15% 

  µÛ×µÛÛ ÈýÛÈÛÍÛÛýÛ¶ÛÛ ¾Û¬ÛÛÇÛ Ðéü¥øÇ ¾Û›÷Áéõ ¾ÛÇÈÛÛ¸ÛÛªÛ –ÛÍÛÛÁõÛé 
  (1) ` 10,000 (2) ` 15,000 

  (3) ` 16,500 (4) ` 9,000 
  Mr. D furnishes following details of his business assets for the A.Y. 2013-14  
  – Plant & Machinery : 
  – WDV as on 1-4-2012  ` 60,000 
  – Purchase of New machine on 1-6-2012 ` 50,000 
  – Sale of machine on 1-1-2013  ` 10,000 
  – Rate of Depreciation         15% 
  The allowable depreciation from income from business and profession is  
  (1) ` 10,000 (2) ` 15,000 
  (3) ` 16,500 (4) ` 9,000 
 (e) ËÛà ‘ˆ’ XYZ Co. Ltd. ¾ÛÛ×¬Ûà 29 ÈÛÌÛÙ …¶Ûé 5 ¾ÛÛÍÛ¶Ûà ¶ÛÛéïõÁõà ¸ÛæÁõà ïõÁõà Ü¶ÛÈÛè«Û ¬ÛýÛÛ. Ü¶ÛÈÛèÜ«Û 

ÍÛ¾ÛýÛé µÛà ¸Ûé¾Ûé¶¤ø …Ûñºõ •Ûóé̃ ýÛä̂ ¤øà …éî¤ø¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé Ðéü¥øÇ ©Ûé…Ûé¶Ûé ` 2,00,000 •Ûóé̃ ýÛä̂ ¤øà 
˜ÛäïõÈÛÈÛÛ¾ÛÛ× …ÛÈÛà. Ü¶ÛÈÛèÜ«Û ÍÛ¾ÛýÛ¶ÛÛé ©Ûé…Ûé¶ÛÛé ¾ÛÛÜÍÛïõ ¾ÛæÇ ¸Û•ÛÛÁõ ` 6,200 …¶Ûé ¾ÛÛÜÍÛïõ               
¾ÛÛê–ÛÈÛÛÁõà ½Û¬¬Ûä ` 2,800 Ðü©Ûä×. ©Ûé…Ûé¶Ûé ¾ÛÇéÅÛ •Ûóé̃ ýÛä̂ ¤øà ïõÁõ¸ÛÛªÛ Áõïõ¾Û. 

  (1) ÉÛæ¶ýÛ  (2) ` 49,423 

  (3) ` 2,00,000 (4) ` 69,500 

  Mr. E, retired from XYZ Co. Ltd. and received ` 2,00,000 as gratuity under the 

payment of Gratuity Act. His salary was ` 6,200 p.m. and D.A. was ` 2,800 p.m. 

He served the company for 29 years and 5 months. His taxable gratuity is  

  (1) Zero (2) ` 49,423 

  (3) ` 2,00,000 (4) ` 69,500 
 

5. •Ûä›÷ÁõÛ©Û ¾ÛæÅýÛÈÛÜµÛÙ©Û µÛÛÁõÛ Ðéü¥øÇ •Û¾Ûé ©Ûé ¼Ûé¶ÛÛ ›÷ÈÛÛ¼Û …Û¸ÛÛé. 10 
 Explain any two under Gujarat VAT. 

 (a) ÈýÛÛ”ýÛÛ …Û¸ÛÛé. (•Û¾Ûé ©Ûé ¼Ûé) 
  Define any two : 

  (1) µÛ×µÛÛé 
   Business 

  (2) ¾ÛÛÅÛ 
   Goods 

  (3) ÈÛȩ́ ÛÛÁõà 
   Trader 

  (4) µÛ×µÛÛ¶Ûä Í¬ÛÇ 
   Place of Business 

 (b) ‘¤éø“Û ’éõ¦øà¤ø’¶ÛÛé ”ýÛÛÅÛ ÍÛ¾Û›ÛÈÛ©Ûà ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé. 
  Write short note on explaining concept “Tax Credit”. 

 (c) ‘ºõÁõÜ›÷ýÛÛ©Û ¶ÛÛêµÛ¨Ûà’ …×•Ûé ¤æ×øïõ¶ÛÛêµÛ ÅÛ”ÛÛé. 
  Write short note on : ‘Compulsory Registration’ 

 (d) ¾ÛæÅýÛÈÛÜµÛÙ©Û µÛÛÁõÛ Ðéü¥øÇ ÈÛéÁõÛ ½ÛÛÁõ¨Û¶Ûà ›Ûé•ÛÈÛÛˆ…Ûé ›÷¨ÛÛÈÛÛé. 
  Incidence of Tax Under VAT Act  

_____________ 


